BK Sekvens, S-torp
Hcp-ligan 1 2020-09-29

Partavling, 9 bord, 18 par. Antal brickor: 24. Medel: 192.0.

Plac Par Poéng % Namn MID Klubb
1 13 227.7 59.30 Sven Persson - Elly Scholten 78393 14375 BK Sekvens, S-torp - Staffanstorps BK
2 18 226.7 59.03 Jonny Kristiansson - Hans Jénsson 405 55726 BK Sekvens, S-torp - Lunds BK
3 14 223.8 58.28 Barbro Julén - Kjell Kristiansson 41431 410  Staffanstorps BK
4 11 218.0 56.78 Johnny Nilsson - Goéran Boke 57017 54405 BK Sekvens, S-torp - Staffanstorps BK
5 15 208.6 54.33 Karl-Erik Gronvall - Anna-Lisa Gronvall 4635 25526 Staffanstorps BK
6 6 199.4 51.93 Gunvor Frid - Bjorn Persson 33411 25070 Staffanstorps BK
7 12 198.7 51.76 Ann-Britt Ingerheim - Anita Martinsson 81755 38033 Svedala BK - Staffanstorps BK
8 7 198.7 51.75 Rolf Holmstrém - Ulla Holmstrém 15849 88153 Staffanstorps BK
9 1 1953 50.87 Hakan Myrhagen - Majvi Pahlsson 411 78818 BK Sekvens, S-torp - Staffanstorps BK
10 9 193.4 50.37 Berry Nielsen - Rolf Maller 5693 12909 Lomma BK
11 10 188.4 49.07 Ritva Myrhagen - Vibeke Nilsson 24760 28173 BK Sekvens, S-torp - Staffanstorps BK
12 3 187.5 48.83 Bengt Martinsson - Greta Kristiansson 13907 7408 BK Sekvens, S-torp - Staffanstorps BK
13 16 186.8 48.65 Leif Ekblad - Ellinor Ekblad Madsen 56682 56688 BK Sekvens, S-torp
14 17 176.1 45.85 Yvonne Wegbratt - Ragnheidur Haraldsdottir 14732 11033 Staffanstorps BK
15 8 170.1 44.31 Vera Jonsson - Gunn Brodén 19470 25087 Staffanstorps BK
16 5 166.4 43.34 Lise Blomqvist - Aase Lundgren 54401 60680 Staffanstorps BK
17 2 164.9 4295 Bo Andersson - Bettina Andersson 403 422  BK Sekvens, S-torp
18 4 125.2 32.60 Lena Jeppsson - Mona Lundh 20629 85946 Staffanstorps BK
1 48752 2 4 8653 3 4 E109853
Nord v ED9543 Ost v73 Syd vKn8
Ingen .- NS + K84 ov *2
#1062 #10943 #10972
4Knl0 « EKD964 4K1072 494 « D7 & KKn
v 108 vKn72 vE109 v K65 v94 vKD105
¢+ D87652 ¢ 1094 ¢ E10532 ¢ DKn ¢+ Kn98643 ¢ KD75
#EKKn &3 +K #EKN7652 %843 #KD5
43 « EDKn 4642
v K6 v DKn842 vE7632
¢ EKKn3 4976 ¢+ E10
#D98754 D8 &#EKn6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 10 44 0-1 vK 50 13.0 30| 9 18 3NV-1 v7 50 160 00|14 5 5¢DO-3 vA 800 16.0 0.0
8 17 44 O-1 +K 50 130 3.0(|14 5 2¢ V= v7 90 140 20|15 6 2NO-3 «4 300 140 20
15 6 34 0-1 +K 50 13.0 30|16 7 3#40+1 &A -130 120 4.0| 1 10 34 N+1 ¢K 170 10.0 6.0
16 7 34 0-1 ¢ A 50 13.0 30|11 2 3#0+2 ¢7 -150 100 6.0 8 17 34 N+1 ¢K 170 10.0 6.0
3 12 49y N-1 o A -50 70 9.0| 8 17 3NV= v7 -400 70 9.0| 9 18 24 N+2 ¢K 170 10.0 6.0
14 5 3#S-1 ] -50 70 9.0|15 6 3NV= v3 -400 70 9.0| 3 12 3NO-1 v3 100 6.0 10.0
4 13 34 0= ¢ A -140 40 120| 1 10 3NV +1 v7 -430 3.0 13.0| 4 13 INO+2 #3 -150 3.0 13.0
11 2 24 O+2 vK -170 20 14.0| 4 13 3NV +1 v7 -430 30 13.0|16 7 2NO+1 ¥3 -150 3.0 13.0
9 18 54DS-2 4J -300 0.0 16.0| 3 12 3NO+2 v4 -460 0.0 16.0|11 2 INO+3 #2 -180 0.0 16.0
4 4 86 5 a2 6 4 DKn73
Vast v43 Nord vE109 Ost vD10753
Alla +9 NS 4752 ov + EK104
#K9876432 #EKn8654 »-
4 KDKn953 #«E4 41076  4Kn854 A4EK542 8
v DKn9 v E10652 vDKn2 vK53 v Kn8 v42
+ D6 + K10543 ¢ ED986 ¢ K1043 496 ¢ Kn532
#Kn5 «D *97 %103 #Knl1093 #EKD872
+ 1072 « EKD93 #1096
v K87 v 8764 v EK96
¢ EKn872 +Kn + D87
*E10 &KD2 »654
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
1 18 4v 0O-2 «A 200 150 10|10 2 4vS= +6 620 160 00| 1 18 54DO-3 vA 800 16.0 0.0
9 17 44 V-2 +9 200 150 10| 9 17 4e¢DV-3 a2 500 140 20| 8 16 4v N= 48 420 13.0 3.0
4 12 44 V-1 +9 100 90 70| 3 11 34aS+2 ¢A 200 120 40| 9 17 4vy N= 48 420 13.0 3.0
8 16 44 V-1 +9 100 9.0 70| 4 12 2vS+2  +9 170 90 7.0| 3 11 3vS+2 & 200 70 9.0
14 6 44 V-1 +9 100 90 7.0(14 6 2v S+2 &7 170 9.0 7.0| 4 12 3y N+2 #A 200 7.0 9.0
15 7 44 V-1 +9 100 90 70|15 7 3#N+2 44 150 6.0 10.0| 5 13 3v N+2 &A 200 70 9.0
10 2 44N-1 oA -100 40 120| 1 18 3v S= ¢A 140 40 12.0(15 7 3v N+2 8 200 70 9.0
3 11 3a V= +9 -140 20 140| 5 13 34 N+1 3 130 20 140|114 6 3y N+1 a8 170 2.0 140
5 13 5& N-2 vA -200 0.0 16.0| 8 16 3NN-1 +3 -100 0.0 16010 2 5v N-1 48 -50 0.0 16.0
7 4 ED10432 8 492 9 aE
Syd vE732 Vast v KDKn83 Nord v K75
Alla +E Ingen ¢E3 ov + KD1083
*K4 #ED63 #ED102
4 K876 #Kn5 & K84 « E107 & K62 4 D1095
vD95 vKnl08 v6 vE2 vKn8643 vD
¢ D762 ¢ Kn98543 + K108642 ¢ 97 ¢ 64 ¢ EKn92
2109 &ED *742 #KKn10985 #K95 #8743
49 4 DKn653 4 Kn8743
v K64 v 109754 vE1092
+ K10 ¢ DKn5 +75
#Kn876532 »- #Kn6
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
14 7 34 N+1 vJ 170 160 00|18 2 5¢DV-3 ¥vK 500 16.0 00|14 7 3NS+1 v8 430 16.0 0.0
9 16 34 S+l a7 130 140 20| 9 16 4v N= ¢9 420 120 40| 3 10 3NS= v3 400 13.0 3.0
1 17 2v N= ] 110 11.0 50|13 6 4vy N= a7 420 120 40|18 2 3NS= v4 400 13.0 3.0
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18 2 24 N= ¢3 110 110 50|14 7 4vyN= A 420 120 40| 1 17 2NN+1 48 150 100 6.0
3 10 34 N-1 vJ -100 70 9.0| 3 10 5¢4DV-2 vK 300 80 80|12 5 1¢ N+3 vQ 130 8.0 8.0
12 5 44 N-1 *A -100 70 9.0| 8 15 3v N+2 #9 200 6.0 10.0| 9 16 3¢ N= vQ 110 6.0 10.0
4 11 44 N-2 +8 -200 30 13.0| 4 11 2v N+2 &A 170 30 13.0| 4 11 3NN-1 &7 -50 20 14.0
8 15 44 N-2 vT -200 30 13.0|12 5 3v N+1 &A 170 3.0 13.0| 8 15 3NN-1 *7 -50 20 14.0
13 6 44 N-3 vJ -300 0.0 16.0| 1 17 3NN-1 *J -50 0.0 16013 6 3NS-1 v4 -50 20 14.0
10 8 11 « EKD8765 12 #9542
Ost v EKn Syd v8 Vast v D86
Alla ¢ Kn10976 Ingen +5 NS .-
#KD973 #E732 #KD10932
4 KKn654 4 ED93 4Knl0 4943 4 K107 «D86
vK5 v D432 vE64 v32 v 10942 vEKn7
+ KD4 ¢ 82 ¢ EKNn76 ¢ D9432 ¢ EK85 #Knl10732
#E62 #1054 #KDKn5 #1084 #E6 *Kn4
« 1072 a2 » EKn3
v 109876 v KDKn10975 v K53
¢ E53 ¢ K108 + D964
#Kn8 #96 #875
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr ut Res Poang
4 10 44 V-1 «K 100 150 10| 3 18 3vyDS= &) 530 160 00|17 2 3&#N= vA 110 160 0.0
17 2 4e V-1 ¢J 100 150 10| 1 16 44 N= T 420 130 30| 1 16 3¢ V-1 +K 50 120 4.0
11 5 24 V+1 &9 -140 120 4.0(17 2 44 N= 8 420 130 30| 8 14 3+ V-1 &K 50 120 4.0
3 18 34 V+1l &K -170 90 70|11 5 34N= ¢9 140 100 6.0|11 5 2v V-1 &T 50 120 4.0
13 7 34 0+1 YA -170 90 70| 4 10 44 N-1 v3 -50 50 11.0| 9 15 2¢ V= *Q -90 70 9.0
1 16 4e V= *J -620 30 13.0| 8 14 5v N-1 &K -50 50 11013 7 INV= %3 -90 70 9.0
8 14 44 V= vA -620 30 13.0| 9 15 44 N-1 +3 -50 50 11.0| 3 18 2¢ V+2 &K -130 4.0 120
9 15 4a V= vA -620 30 13.0(13 7 44 N-1 &T -50 50 11.0(12 6 1lvV+2 &K -140 20 14.0
12 6 4e V= vA -620 30 130|122 6 44DN-1 ¢4 -100 0.0 160| 4 10 INO+2 ¢4 -150 0.0 16.0
13 D 14 4 Kn64 15 « EK1087
Nord v Kn1052 Ost v D92 Syd v-
Alla ¢ EK53 Ingen ¢ K95 NS ¢+ E84
#K1096 #Kn832 #K7532
4 K862 & EKN953 D83 4 EK5 4Kn32 4D
v K7 v ED643 v 84 v EK1073 vKn842 v KD965
¢982 +64 ¢D7642 ¢ Kn3 ¢ KDKn6 ¢ 1075
#E873 &2 *E76 #D105 #DKn #E1098
1074 « 10972 #9654
v 98 v Kn65 vE1073
¢ DKn107 ¢ E108 ¢ 932
#DKn54 #K94 64
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
9 14 29 0+2 +Q -170 150 10| 1 15 3NV-3 a) 150 160 00| 3 17 4vO-1 49 50 150 1.0
12 7 24 V+2  ¢A -170 150 10|10 5 3NV-1 *8 50 140 20| 4 18 44 O-1 *6 50 150 1.0
1 15 24 V+3 +A -200 90 70| 8 13 2NO+1 ) -150 11.0 50| 9 14 44 N-1 vK -100 11.0 5.0
10 5 24 O+3 v9 -200 90 70| 9 14 2NV +1 &2 -150 11.0 50|10 5 44 N-1 *A -100 11.0 5.0
11 6 24 O+3 #Q -200 90 70|11 6 2NV+2 &3 -180 80 80|11 6 3vO+1 &4 -170 70 9.0
16 2 34 0+2 v6 -200 90 70| 3 17 3NO= a2 -400 6.0 100|16 2 3v O+l &6 -170 70 9.0
3 17 44 O+1 ¢Q -650 20 14.0|12 7 4v0O= ¢ A -420 40 120| 8 13 54 N-2 vK -200 3.0 13.0
4 18 44 O+1 v9 -650 20 14.0| 4 18 3NO+1 42 -430 10 15012 7 34 N-2 +3 -200 3.0 13.0
8 13 44 O+1 v9 -650 20 14016 2 3NO+1 #4 -430 10 15.0| 1 15 4vO= a4 -420 0.0 16.0
16 # 10652 17 a7 18  K7642
Vast v K84 Nord vE73 Ost v9
ov + EK96 Ingen ¢ EDKn6 NS ¢+ KD732
*K6 #EKn853 «108
4 K843 4 DKn97 «EKnl10 4K8642 4Knl03 o-
vD10 v EKn9762 vKnl054 vKD9 v1052 vEKKn76
¢ Kn4 ¢D ¢ 952 +1083 ¢ E1065 ¢ Kn94
#109852 #43 *K96 #102 #Kn97 #ED543
«E & D953 « ED985
v53 v 862 v D843
¢ 1087532 ¢+ K74 +8
#EDKn7 «D74 #K62
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
18 5 3NN+3 v2 490 160 00| 3 16 3NN+1 v9 430 150 10|18 5 44 S= vT 620 160 0.0
3 16 5¢ N+1 vA 420 120 40|18 5 3NN+1 v9 430 150 10|10 6 5vDO-3 4A 500 140 2.0
4 17 5¢ N+1 vA 420 120 40| 9 13 3NS= «T 400 110 50| 4 17 5vDO-2 +8 300 120 4.0
10 6 5¢ N+1 vA 420 120 40|10 6 3NN= v9 400 110 50| 3 16 34 S= v5 140 100 6.0
8 12 2NN+4 v2 240 80 80| 8 12 24 N+2 42 130 70 9.0| 9 13 4vDO-1 +8 100 8.0 8.0
11 7 3¢ N+3 vA 170 50 11.0|15 2 3#N+1 ¢3 130 70 9.0| 1 14 4v0-1 +8 50 6.0 10.0
15 2 3¢ N+3 4Q 170 50 11.0| 4 17 3#N= vK 110 40 12015 2 44 S-1 *) -100 40 120
1 14 4¢ S= vQ 130 10 150| 1 14 24 0-1 *Q 50 20 14011 7 1vO+2 +8 -140 20 14.0
9 13 3¢ S+1 vQ 130 10 15011 7 3NN-3 a2 -150 00 16.0| 8 12 54 S-2 ¢A -200 0.0 16.0
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«10 20 & Kn743 21 «ED753
v DKn74 Vast v4 Nord v K75
¢ E85 Alla ¢ KD942 NS ¢ 107
#EKn862 #753 #Kn87
4 K9832 4 ED4 49862 «10 4 Kn4 4 K62
vE3 v K10982 vKn9 vEKD107 vDKn862 vE4
¢ Knl02 ¢K74 +875 ¢EG6 ¢ EDKn2 #8653
#K103 75 #9862 #EKDKnN10 *94 #EK32
« Kn765 « EKD5 #1098
v 65 v 86532 v 1093
¢ D963 ¢ Kn103 ¢ K94
D94 &4 #D1065
Kontr Ut Res Poang Par Kontr Ut Res Par Kontr ut Res
4o V-1 «T 100 140 20| 1 183 5v0-1 «A 100 10| 8 11 3NO-3 T 150 0.0
3e V-1 ¢5 100 140 20|14 2 4v0O-1 4K 100 10|14 2 260+1 T -110 3.0
2y O-1 +3 100 140 20| 9 12 2vO+1 &4A -140 40|18 6 3¢ O= 49 -110 3.0
2% N -1 v8 -50 90 70| 3 15 3#0+3 &K -170 60 1 13 2NO= T -120 6.0
3& N-1 & A -50 90 70| 4 16 2v O+3 aA -200 90|10 7 3v V= oT -140 8.0
24 V = oT -110 50 11.0|17 5 3v O+2 ¢J -200 9.0 3 15 26 O+4 T -170 10.0
la V+1  #A -110 50 11.0| 8 11 3NO= +Q -600 120(17 5 24 N-3 v4 -300 12.0
3e V= v4 -140 10 15010 7 4v O+1 #4 -650 140| 4 16 3NO= 48 -400 14.0
24 O+1 ¢A -140 10 150|18 6 6#0-= A -1370 16.0| 9 12 3NO+1 T -430 16.0
« K104 23 & KKn 24 « DKn53
v EKKn3 Syd v K765 Vast vKD1098
+ EK6 Alla + E7653 Ingen +103
#EK7 #ED #E8
~E6 4 DKn732 ~ E86 41097432 4 K2 «10984
v 1095 v 864 vKn84  vD92 v- v Kn42
¢ D98753 ¢ Kn4 ¢ DKn84 ¢ 92 ¢ KD862 ¢ 9754
«D8 #432 #1032 84 #KKn10976 #32
# 985 «D5 «E76
vD72 vE103 vE7653
¢102 ¢ K10 ¢ EKn
#Kn10965 #KKn9765 D54
Kontr Ut Res Poang Par Kontr Ut Res Par Kontr ut Res
4y N+2 ¢ 480 6.0 00| 1 12 3NN+2 T 660 40 1 12 4vy N+2 T 480 2.0
SBNN+2 4Q 460 90 70| 8 10 3NN+2 T 660 40( 9 11 4v S+2 &K 480 2.0
SNN+2 &7 460 90 70|13 2 3NN+2 44 660 40(18 7 4vy N+2 T 480 2.0
SBNN+2  ¢J 460 90 70|17 6 3NN+2 &7 660 40(13 2 5¢v N= T 450 8.0
ANN+1 &7 460 90 70|18 7 3NN+2 T 660 40|16 5 4v N+1 #3 450 8.0
SNN+2 &7 460 90 70| 9 11 54S+1 &A 620 10017 6 5v N= ¢9 450 8.0
BNN+2 4Q 460 90 70| 4 15 54S-= «A 600 130 3 14 5v N-1 3 -50 13.0
2NN+4 3 240 20 14016 5 5#S-= «A 600 13.0| 8 10 5v N-1 3 -50 13.0
2NN+3 &7 210 00 16.0| 3 14 4v N-1 *8 -100 16.0( 4 15 6vy N-3 *2 -150 16.0
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